Dijkstra's shortest path algorithm for A -> D
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D(B).p(B)

D(C).p(C)

D(D).p(D)

D(E).p(E)

D(F).p(F)

D(G).p(G)

D(H).p(H)




Distance vector algorithm

E

A sends update:

D sends update:

B sends update:

C sends update:




Dijkstra's shortest path algorithm for A -> D
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Distance vector algorithm

D D SHEOIED T g8 o SHEOIED
< < < < Og9 ~ < w
N—r
<m0 Q0 <m0 Q0 < m 0 Q0 <m0 Q0 hl<|mo|lo|o
~—~ ~—~ ~—~ ~—~ ~—~
N N N N L N
N—r N—r N—r N—r N—r
~~ ~~ ~~ ~~ ~
2 2 2 2 O~ v g~
~—~ ~—~ ~—~ ~—~ | /™~ ~—~ |
S S S T8 wle o TT w0
<|m| o uw <|m| o uw <|m| o uw <|m| o uw Dl< oo |w
< < < < w <
S) S) DIEHED g ge o DIEHED
S g8 S w S w < 8w
<|m|0o|uw <|m|0o|uw <|m|0o|uw <|m|0o|uw Al< oo|w
~—~ ~—~ AN N N AN N N N N N
& & o AOR LRI o o
~—~ ~—~ | ~—~ ~—~ ~—~
N N | N | N | << | N | o
N—r’ SN | N N—r N—r N—r
<|l0|0o|uw <|l0|0o|uw <|l0|0o|uw <|l0|0o|uw hl<|o|o|w
g g : E
© © < M © ke, © T O|lo|o|~|lo
o o Q Q
= 5 =] =]
” % %
o 2oy c o SO ¥ ese goNB T e
2 3 ) )
mlolojlw <« mlolojw O nlolojw O mloojw OF m|lo|alw



